
01


  

02
y

IM = 6,5 ; IJ = 15,6 ; JK = 8,4 EI = 2,4 ; EF = 6 ; EJ = 3 AM = 5 ; AB = 9 ; AC = 14,4
MN EG AN

UV = 7,6 ; TR = 10,5 ; RS = 9,8 IJ = 3,1 ; IG = 7,2 ; IH = 7,3 AM = 4,3 ; AB = 7,9 ; AC = 8,8

TV IK AN
.
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



15cm

2m 2,5cm

03
H = 30mD = 2km

①
②

04


1,58m
30°20m

①
②AB

05
15cm2m


2,5cm

06

d = 3,36mh = 1,16m

D
D = 12,7m

①
②
③H

07
3m

D = 30m
dh = 6,2cm

①


②HhdDd = 62cm
③

h
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08


h = 14cm
①
②H = 92m

d = 38cm

09


ACDC
CB

BM
L = DM
30m45m
H = DC = 80,0cm

ℓ = DA = 3,0m
①
②hHLℓ
③h

10


230m
1m
180m

①
②2m
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11


①D = 8mH = 5,20m



②D = 1,5 x hα

12



400mL =
ℓ = 60cm

H = 6cm

①
②
③

13


53 cm
①


②


32,90 cm3,84.105km


d D

L

ℓ

☞

α30°40°≈34°







     
1,5

D         1,5 x h

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14


4cm


50cm
3m



15


BC = 2,20m        BT = 0,8m           OT = 1,50m

16
1,70m

70cm
1,30m


17

DA
DA

30km/h
DA

18
1m

1,40m





19


75cm


h = ?
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1,75m

20
IJ

ABC
(AB) // (CJ)IB = 6m ; CJ = 14m ; AB = 10m

      IJ

21


30cm50m
①




②
3m

22
①

②

23
1,75m10mℓ = 50mm





A

B



A

B



❶❷

I

BA

JC


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24



①AB1,80 m


②12cm
OB

25



① H'A'B'K'

HABK


②



26




rétroviseur)  20cm
50cm

20m


27



①


②



M

O B6cm

A
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28









29




24 V – 10,41 A 

①
 L1=250W ; L2= 600W ; L3= 150 W


②

45°
A

15°B
ABABAI=1mtg 30° = 0,57

1
30

O



①
②
③


31m2


①
②1,60m

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α β
H

ℓ = 20m

32
①OAB
②CD

1,20m
50cm6m1m
33




400m
100m


①
②
34. 


α = 20°β = 70°

①
②ℓ = 20m



35°64
①3°
②       2°     


36

24°

37

50cm


38θ
90°<θ<0°


β = 180° ­   2 θ. 
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